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MAHH ¥ Jve! g9Gc b1 Y fhas
BRI BT B 7

(A) T Age

(B) TTUHM 3ReR
(C) Tl YUGRY

(D) SHIF W

frd @er @1 B A TR B Wl
g ?

(A) T

(B) BN

(C) P

(D) SHIE W

e R Ffaiag § 4 fga forg
eI PRl © 7

(A) SHE T@I IR Msor

(B) <Y &I fddey

(C) ¥ o v, € 3R YCmifcs
Tl @ a2 W 3¢ B

(D) SudTd aHl
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Sandy texture defect in ice-cream is due

to:

(A) High lactose

(B) Temperature fluctuation

(C) Long storage

(D) All of the above

The deficiency of which of the trace

mineral can lead to Anaemia ?

(A) Iron

(B) Copper

(C) Cobalt

(D) All of the above

Milk replacer refers to which of the

following ?

(A) Readymade dry feed mixture
(B) Substitute of milk

(C) It is also fortified with Vitamin A,

D and antibiotics

(D) All of the above

Set-C



4 T, T, _s: ________________________ ol ﬂ"c{fﬁﬁ T %\, 4. N. F. E. refers to ............... and serves as

asource of ................ .
T — S 99 3 w7 Py
AT 2 |
(A) T Be T®gde, N (A) Non Fat Extract, Protein
(B) I BIsER TIgde, faerf®q (B) No Fibre Extract, Vitamins
(C) SN Wl Udgde, ol (C) Nitrogen Free Extract, Energy
(D) TISGIN e Uddgde, a4l (D) Nitrogen Food Extract, Fat

5. HRd ¥ 2019-2020 & SR Ufd eafdd ) 5. In India milk availability per capita per
day during 2019-2020 was :

Bl SyCTEd o :

(A) 177 IH (A) 177gm
(B) 214 UM (B) 214gm
(C) 407 U™ (C) 407 gm
(D) 307 U™ (D) 307 gm

6. W BN arel H Icgallol Pl UTae 6. In ruminants the cellulose is digested in

R o & B 2 ? which organ ?
(A) BT (A) Rumen
(B) EIgem (B) Reticulum
(C) AHGH (C) Omasum
(D) TaHH (D) Abomasum

Ag-705 (4) Set-C



7. gar 988l @ ABR H SARIAERE 7. Aureomycin hydrochloride is feed to

@W_\’E@ 80 Vi /ﬁ:{ o young calves 80 mg/calf/day because :

ferr ST ® ?

(A) TE 99l & T BT ST BT © (A) Ittreats calf scours

(B) fIarT @I 10 J 30 Ufwrd I gern (B) Increases growth from 10 to 30
3 percent

(C) WY &1 faemT Hva B (C) Develops rumen

(D) ¥ T UM H AGS Iedl © (D) Helps in digestion of milk

8.  Wqford JMER IAER &I I8 AT B : 8.  Balanced ration is the amount of feed :

(A) o il Uy 9@ 8§ | (A) which contains all the nutrients.

(B) S AR & ERM < T 2 | (B) which is given during pregnancy.

(C) for¥ 24 gv¢ # amgfd oy T Wi (C) which has correct proportion of all
9P el o7 Tol SRR BT 2 the feed nutrients supplied in 24

hours.

(D) I 24 U9 & TRM 3]'|'C|°ﬁf GRS (D) which is supplied during 24 hours.

gl

9. UY UNY & FHNI MIAMER Sfad faig 9. According to Thumb rule of Animal

3MER H S €. U, &7 yfaerd fbam gF Nutrition what should be the percentage
of TDN in maintenance ration ?

ey ?

(A) 5055 (A) 5055
(B) 60—64 (B) 60—64
(C) 6872 (C) 6872
(D) 8082 (D) 8082

Ag-705 (5) Set-C



10. i, PR, TedE @ o
g
(A) T
(B) PrEEsRT

C) @
(D) U=
11, frafoed § 9 @9 (CERcs T8
g7
(A) RS
(B) WeMRER
(OERCESINIE
(D) FrRmERE
12. BferM o1 B4 | Ul el § oF-A1
R &1 W & ?
(A)  SRRemgerT
(B) @ I
(©) U=

(D) SudTd aHl

Ag-705
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10.

11.

12.

Argine,  methionine, lysine

tryptophan are :

(A) Minerals

(B) Carbohydrate

(C) Fats

(D) Proteins

Which of the following is

an antibiotic ?

(A) Penicillin

(B) Streptomycin

(C) Albendazole

(D) Neomycin

and

not

Which disease occurs in adult animals

due to deficiency of calcium ?

(A) Osteomalacia

(B) Rickets

(C) Milk fever

(D) All of the above

Set-C



13.

14.

15.

16.

g # amuffstor gt febar o © ?

(A) P G deH b folv
(B) Y B! HIHT 4 & feoly

(C) Bfear e &1 Y W TH W

g9 @ forg
(D) SWa &l

g # UICH foa w9 T o © 7

(A) Plegsd

(B) g

(C) faerr

(D) STdad # & Big AL

A AR A AYE S Uerl @ A

I B
(A) 18% 3 3fH
(B) 18% | @A

(C) 18%
(D) SWa ¥ ¥ I3 T

T A SRE A IR @1 AT BRI

2
(A) 18% 9 f®
(B) 18% ¥ ®H

(C) 18%
(D) SWad # | BIS T

Ag-705

13.

14.

15.

16.

Why are adulterants added in milk ?

(A) To increase shelf life

(B) To increase quantity of milk

(C) To sell poor quality at the same
price

(D) All of the above

Protein in milk exists in the form of :

(A) Colloidal

(B) Emulsion

(C) Solution

(D) None of the above

The amount of crude fibre in roughages
is :

(A) More than 18%

(B) Less than 18%

(C) 18%
(D) None of the above

The amount of crude fibre in concentrates
is:

(A) More than 18%

(B) Lessthan 18%

(C) 18%
(D) None of the above

Set-C



17. =foReg § 9 o9-0 Sedferd dMRT 17. Which of the following is a metabolic

37 disease ?

(A) IR (A) Perosis

(B) @R (B) Ketosis

(C) eEfe™ (C) Mastitis

(D) wHgrfew (D) Metritis

18. . 9 91 U, & favqge w8 18.  Full form of PCDF is :

(A) TRRIG PRIRRT ST HeveE (A) Pradeshik  Co-operative  Dairy
Federation

(B) UisdT DRITRRT S BewwH (B) Private  Co-operative  Dairy
Federation

(C) URRIG BARRIT ST HexH (C) Pradeshik ~ Commercial  Dairy
Federation

(D) Suga H A Bl el (D) None of the above

19. T{f‘l‘l?«ﬁ ErGECIR 7y ¥ Irddd MR 19. True stomach in ruminant animal

m %\r : is:

(A) T (A) Rumen

(B) 3o (B) Omasum
(C) TUq AoTH (C) Abomasum
(D) e (D) Reticulum

Ag-705 (8) Set-C



20. YO H AR W wE. @ AER A e 20. Normal range of saliva pH in animals

3. IS :
(A) 4256 (A) 4256
(B) 52—6.6 (B) 52—66
(C) 62—7.6 (C) 62—7.6
(D) 7.2—86 (D) 7.2—86
21,  PIADIBIA © : 21. Cholecalciferol is :
(A) fderiE 3, (A) Vitamin D;
(B) faerfm i, (B) Vitamin Be
(C) faerfae 41, (C) Vitamin By,
(D) faerfim 3 (D) Vitamin E
22. HCOl Bl &1 T fddd SR B g ? 22.  Greenish colour of whey is due to :
(A) Tl (A) Riboflavin
(B) WRICH (B) Carotene
(C) Srnfthd (C) Xanthophyll
(D) g (D) Lycopene
23. Wl SMER ¥ WM 2 : 23. Balanced diet includes :
(A) U 3R faerfimg (A) Proteins and Vitamins
(B) W@Eﬂ, T AR W (B) Carbohydrates, Fat and Proteins
(C) FHEiEggcH, a4, Wgrd 3R (C) Carbohydrates, Fat, Proteins and
faerfe=g Vitamins
(D) TEEEscd, a4, Wi, AR, (D) Carbohydrates, Fat,  Proteins,
foerfamg 3R g Minerals, Vitamins and Water

Ag-705 (9) Set-C



24,

25.

26.

27,

Bacl UIeU FHYUT B SUANT o dlel U]

HEA &

(A) SRR
(B) HrERI
(C) N
(D) dicwel

fefaRed & ¥ o9-a1 faef®q &1 ar

el 8 ?

(A) T

(B) Hersiferon

© &

(D) SWE ¥ | TS el

WA & e &1 fmfor g 2

(A) 35—4.2
(B) 42—45
(C) 45—48
(D) 48—55

(10)

24,

25.

26.

217.

Animals consuming only plant materials

are referred as :

(A) Herbivores

(B) Carnivores

(C) Omnivores

(D) Insectivores

Which of the following is not a function
of Vitamins ?

(A) Digestion

(B) Metabolism

(C) Growth

(D) None of the above

Formation of glucose from protein is :
(A) Gluconeogenesis

(B) Glyconeolysis

(C) Glycogenesis

(D) Glycolysis

Explain the pH of good silage :

(A) 35—4.2
(B) 4.2—45
(C) 45—48
(D) 48—55

Set-C



28. IRR H BEEESCH & 99 BT ¢ - 28. Reserve form of carbohydrates in body

is:

(A) ¥ (A) Starch
(B) dI. U, U. (B) VFAs
(C) TegBIT (C) Glycogen
(D) TP (D) Glucose
29. faerfe €I, &1 e Tm | g ? 29. What is the chemical name of Vitamin
Bs ?
(A) TR (A) Pyridoxin
(B) NrgdTHifad (B) Riboflavin
(C) Irafid (C) Thiamine
(D) TUfeliwelfds (D) Polyflavin

30. faeifa &1 fRly wu 4 wy qd @ 30. Vitamin that is exclusively of animal

3. origin is :

(A) faerfe 4, (A) Vitamin By
(B) fderfa= I, (B) Vitamin B;
(C) faer# 4, (C) Vitamin B,
(D) fderfe 4, (D) Vitamin Be

Ag-705 (11) Set-C



31.

32.

33.

34.

Ag-705

oM H 6 d@ @ B | whdl I
BT § ?

(A) faeii= g

(B) fderf# i

(C) faer™ = <

(D) fder= S

T, . IR, g, Rerd =
(A) Sl H

(B) @A H

(C) RERH

(D) g feeell o

Y DI Upfdd IFeldl [hddh HRU Bl
g ?

(A) TR BiEcH

(B) HuM

(©) WmEgT

(D) Suda Wl

¥ B ANES BT Bl hd HH HaT o
qH § -

(A) T AR

(B) o fAaTrax

(©) (A) 3R (B) &

(D) SUYa H A Bl 7l

(12)

31.

32.

33.

34.

Which deficiency in food causes Scurvy
disease ?

(A) Vitamin A
(B) Vitamin B
(C) VitaminC
(D) Vitamin D
N.D.R. I.is located in :

(A) Jhansi
(B) Karnal
(C) Hisar

(D) New Delhi

Natural acidity of milk is due to :

(A) Acid phosphates
(B) Casein
(C) Citrates

(D) All of the above

How can the specific gravity of milk be
lowered ?

(A) By adding water

(B) By adding cream

(C) Both (A)and (B)

(D) None of the above

Set-C



35.

36.

37.

38.

Ag-705

T WD T

(A) HHDZ
(B) SISVINIES
(C) IfermRipNTES
()RR CIGENES

UG B | O B B | B 1
frforRad o ¥ fde W amenia gl §
(A) S W8Ik AL ST
(B) S TH. 3R WM M
(C) S 3& W3R AT
(D) <. 9 . 3R gg ol

e ol Fefoed § 9 fowar st
A @ ?

(A) FHEEESCH

(B) Tl

(C) WIRWBRH

(D) BfRRH R BB

PIAReH () | 919 BT ©
(A) oS H T

(B) alel

(C) (AT (B) T

(D) I AT

(13)

35.

36.

37.

38.

The milk sugar is :

(A) Monosaccharide
(B) Disaccharide
(C) Oligosaccharide

(D) Polysaccharide

The recent method of formulation of

ration is based on :

(A) DCP and TDN
(B) DM and Thumb rule
(C) DTPand TDN
(D) DCP and Net energy

Bone meal is a good source of which of

the following ?

(A) Carbohydrates
(B) Fat

(C) Phosphorus

(D) Calcium and Phosphorus

Colostrum prevents against :
(A) Calf scour

(B) Nighblindness

(C) Both (A) and (B)

(D) Navel ill

Set-C



30, el X il Ol A WHIREE @B 39.

HE F BIF-G1 T BT & ?

(A)  RifeRm
(B) TN fec
(C) UIRdI
(D) IR

40. % gy 9 98K U @1 @ g 40.

g

(A) WS BT 3
(B) T &I gY
(C) ¥4 @I gy

(D) ¢ @ gy

41, g F @ H 9L W G oWEr w41

STl ©

(A) 452 gfcer
(B) 3.62 Ufoerd
(C) 2.62 Ufaer
(D) 0.00 HfoRrd

42, fofvaq ure food uggell # & 8 ? 42.

(A) A T At
(B) S[ITGll T &R Tl
(C) STl

(D) (A) 3R (B) T

Ag-705 (14)

Which diseases is caused by the
deficiency of magnesium in ruminant

animals ?

(A) Paralysis

(B) Grass tetany

(C) Pica

(D) Perosis

Better quality KHOA is prepare from
which milk ?

(A) Sheep milk

(B) Cow milk

(C) Buffalo milk

(D) Camel milk

DCP found in wheat straw is :

(A) 4.52 percent
(B) 3.62 percent
(C) 2.62 percent

(D) 0.00 percent

In which animal does fermentative

digestion occur ?

(A) Ruminant
(B) Non-ruminant
(C) Wild

(D) Both (A) and (B)

Set-C



43, PH-9 SW SAE WHG & w9 § 99 43,

NI

(A) g
(B) UAR
(C) W™

(D) ©i

44. T BENT O YA W WD @I WET B9 44

A &

45. TH. G BT M E 45.

46. T, UB. 3. Bl 0K WU & 46.

(A) IS DIFEST TRTo
(B) TEEIoH fhfRT aigae

(C) ISEINH Wl Udgde

(D) TSI he URigde

Ag-705 (15)

Which dairy product is sold as

AGMARK ?

(A) Milk powder
(B) Cheese

(C) Fluid milk
(D) Ghee

Hormones that lower blood

levels :

(A) Glucagon
(B) Hypoglycemia
(C) Hyperglycemia

(D) Adrenalin

Full name of SE is :

(A) Starch Established
(B) Starch Equivalent
(C) Sodium Established

(D) Sodium Equivalent

Full form of N. F. E. is;

(A) National Feeding Exchange

(B) Nitrogen Fixing Extract

(C) Nitrogen Free Extract

(D) Nitrogen Food Extract

sugar

Set-C



47.

48.

49.

Ag-705

afe g # @) fieae @ S g,
o a1 fedie fawg

(A) e T

(B) wedl B

(C) I 98 & 7 & Hedl ©

(D) SWH & W B &l

Bl e fhea! SuRYT &1 gar o
& fory Susran ST g ?

(A) ¥ & Y H T BT 3y

(B) ¥ & ¥ H 9@\l BT Y

(C) ¥ & ¥ H S &l gy

(D) T & ¥ H 90 &1 Y

JREE B FA W BE-E I F
g ?

(A) ©ET I

(B) PRI & 911 ST

(C) TR

(D) ST W

(16)

47.

48.

49.

If milk is adulterated with water (H,0),

then freezing point of milk :

(A) Increases

(B) Decreases

(C) Neither increases nor decreases

(D) None of the above

Hansa test is adopted to dectect the

presence of :

(A) Cow milk in Buffalo milk

(B) Goat milk in Buffalo milk

(C) Ewes milk in Buffalo milk

(D) Goat milk in Cow milk

Which disorder is caused by deficiency of

lodine ?

(A) Goitre

(B) Falling of hairs in pigs

(C) Rough skin

(D) All of the above

Set-C



50. Wefl, qM, YA T YA ¥ Y U 50. Percentage of dry matter in oilcake,

cereal, straw and puaal is :

ERIRCIGI
(A) 10% (A) 10%
(B) 90% (B) 90%
(C) 70% (C) 70%
(D) 15% (D) 15%
51. GG BT SGINYY BT § ¢ 51. Absorption of fat is from :
(A) formp w1t | (A) Lymph route
(B) I AN ¥ (B) Blood route
(C) ®rgsigl @ (C) Hydrotropy
(D) TS DU ¥ (D) Blood capillary
52. QMR-3R. UA. U. & WM M & 52.  Full name of r-RNA is :
(A) R 3R . T (A) Renal RNA
(B) Id IR UH. U (B) Rock RNA
(©) ﬁ\_rl‘cf@i IR, TA. T (C) Reserved RNA
(D) TZENIEA R, TA. T. (D) Ribosomal RNA
53. fdeifeq 261 BT NNRD 9H @7 8 ? 53.  What is chemical name of Vitamin Ky ?
(A) iR (A) Pyridoxine
(B) Nrdifa (B) Riboflavin
(C) WIEAlfdas (C) Phylloquinone
(D) UmIfd (D) Thiamine

Ag-705 (17) Set-C



54. f=faRad § 9 fog Y] WHA & w9 H 54.  Which one among the following is known

ST ST © 7 as animal starch ?
A) 3 (A) Cellulose
® 9 (B) Glucose
(©) TP (C) Glycogen
(®) (D) Pectin

55. GIAIREAT  fhas  fmor & fou 55. Cyanocobalamine is essential for the

HgIH T ? formation of :
(A) 3R 9w, (A) RBC
(B) s dI. 4l (B) WBC
(€) form (C) Lymph
(D) QIcee (D) Platelets
56. ¥4 [hdd gRT gadr & ? 56. Starch is digested by :
(A) ULIST (A) Peptidase
(B) THISC (B) Amylase
(C) U (C) Lipase
(D) W (D) Proteinase
57. Mol @v" el uyel ¥ e fkar 57, Inruminant animals bacterial action takes
T B © place in :
(A) ST | (A) Rumen
(B) ClgHeH H (B) Reticulum
©) 3o H (C) Omasum
(D) TeHoH | (D) Abomasum

Ag-705 (18) Set-C



58. HIN-W1 el GAlerd & ? 58.

(A) fder™® v — amafim
(B) fIeffm § — craIwRrd
(C) fIerfim S — Jsavifas

(D) faerftm &t — dfesraxial

59. Racd MR fodgar & & HRU B 59.

g ?

(A) faerfae
(B faer €
(C) fderfm i

(D) faerfe g

60. T L. SI. &l P g WY & 60.

(A) I STATHT S 91
(B) TIFA SW STATHT 9IS
(C) “RMd SH SIATHT &I

(D) SUga H A Bl e

Ag-705 (19)

Which one is correctly matched ?

(A) Vitamin A — Thiamine

(B) Vitamin E — Tocopherol

(C) Vitamin D — Riboflavin

(D) Vitamin B — Calciferol

Rickets disease is caused due to

deficiency of :

(A) VitaminD

(B) VitaminE

(C) Vitamin Bg

(D) Vitamin A

Full form of NDDB is :

(A) National Development Dairy Board

(B) National Dairy Development Board

(C) National Dairy  Development

Bureau

(D) None of the above

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEM & A0S fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet) T
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & ¢
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq afeT = 2|

10. @15 A WG B, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e H dN-ge, deldeicy, Yok a1 Heger
B of ST T SHBT START BRAT i ¢ |

12. 9 & B U9 S WURRY § A=1ar 89 &
T H YT BT U WUARYT & AR BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o
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